1. RBEHITRE (FHMTEI0RA )

Xt AH X R XHE-REF E=E (M)
10A4H Z0f |KERBEOIR(BLE) 5,200
10A118 oMt |WET-ES- ASHRERFREIAFESXAOT (BLE) 13,500
108118 BH  |FEROTERALETR) 5,940
108188 oMt  |RE-FFRIENRSREOHF (FESIXREA) 2,160
104188 oM |RE-FEFRIENREBREOHF FESIXREA) 2,000
108188 B | ARG HALTE) 32,940
10R18H B & EE-SNXOF (BRLET) 16,200
10A19R EL = FEERLNEERERRIERE IO 6,000
10A258 R | BETBEEXEE-SHX0H(FH) 5,000
108258 Zoftt  |RER-FEFRILLREBREOH(SmME) 4,500
108288 HE | whEEE-SHNXOH (Fi) 5,000
a8 § 98,440




2. B (ST EE)
XHRES | HB(HAS) | REHEH | E(EAD) 2 &8
& = 1 14 6,000 78,000
B M 2 10 38,880 94,560
B sl 2 7 26,200 79,550
R & u 0 0 0 0
% g £ 0 2 0 10,000
0 1 0 8,000
z O 5 23 27,360 188,686
a B 10 57 98,440 458,796




